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1. T 3t 9% H, I AW TS 3SAT WRIEReT &9 gar 87
in an otto cycle, heat supply and heat rejection takes place
(a) T&R g9 vg X 3fIda=T W / At constant pressure and constant volume
(b) TEI 3Tdel Ud &Y &9 U¥ / At constant volume and constant pressure
(c) &= =R g« W / Both at constant pressure
(dy e R 3aa W/ Both at constant volume

2. g &R & qures § #T / Entropy is a property of fluid which
(a) AT IMfA 9T ST § / Increases when heat is supplied
(b) AT AR AT ger OY TEAT § / Decreases when heat is not supplied
(€) AT HYfA & g9 9T TR AT & / Remains constant when heat is not supplied
(d) Fodwa @elr / All of the above

3. TF gy #r A For R W W S §0
The internal energy of a substance depends on
(a) TaRrsz AT/ Specific heat
(b) dHAR / Temperature
(c) &/ Pressure
(d) 31opHt S A vF faearE 9/ Motion and configuration of molecules

4. T THelsT T ANRAT AT 172 cc TAT TASHRIA 3100 18 ¢ §1 3HFT HASH e Ferer
g
The swept volume of a cylinder is 172 cc and the clearance volume s 18 cc. The compression ratio is
(ay 7.2:1 '
(b) 95:1
) 17.2:1
@ 1.72:1

5. TU& B¢ Hast grel B I 3iad o0 1500 rpm T O @7 &) Uh AFZ 7 98 fheer &g
g &9
In a six cylinder four stroke diesel engine running at 1500 rpm, the number of power strokes in a
second is \
@ 75 '
(b) 150
(e} 200
(d) 300
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6. U #H SUTTeld IS fHde X / By adding ethylene glycol to water
(@) FETY=TF ST o fawieh weam
The boiling point increases but freezing point decreases
(b) aFaT AT R TR S
The boiling point decreases but freezing point increases
(c) TFaTYATF U TgA® il gearr
Both boiling point and freezing point decrease
(d) TFaTudiF Ud RHE il eI

Both boiling point and freezing point increase

7. TOCE % suw 2 9T 9o W 39 LHP
If the diameter of a cylinder is increased by 2 times then ILH.P

(@) 29w T / Increases by 2 times (b) 43T 9T / Increases by 4 times

(c) 3muT g ST / decreases by 1/2 (d) - wturg weEaw / decreases by 1/4

8. oY WU FA Y ¥ faw, gget SR Far g wmiRw?
To reduce air-pollution, the combustion chamber should be
(a) TUIT 3R &1 / Flat shape
(b) ﬁﬁﬂﬁmﬂl Elliptical shape
(c) 3T TR FT / Hemi-spherical shape
(d) &R &7/ Spherical shape |

9. 3OR® Wadsd #, Tofeww Far wafdd s=ar &7
~ In catalytic converter, platinum converts
(@ CO ¥/to CO; | | () NO ¥/to NO,
() SO &/to H,50, _ (d) NO & /to N;

10. CRDI & 3™ & / CRD! means
(a) FHieg3rd Us TFa gaar= / Continuous rod diesel injection
(b) HHT T SIFTF IoiFeT / Common rail diesel injection
(¢} FATFeaT U3 Aler Sota / Connecting rod diesel injection
(d) 3 # ¥ Fg 78T / None of the above
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11. T TSGR FRT A / Majority of the present day cars have

12.

13.

14.

15.

16.

(8) el TRl X A ok gl & / Drum brakes on all wheels

(b) | TFH W 3 o1 g § / Disc brakes on all wheels

(¢) I FIFR W BEF IF aW NS FITFR RIAIF A&
Disc brakes at the front and drum brakes at the rear wheels

(d} 31T & TEFHl W ZASE JAT NS & IFh W BTH IF e &

Drum brakes at the front and disc brakes at the rear wheels

TR SF H, a1 & Hlod el HLr &7 / In air brakes, air pressure is supplied by

(a) saﬁaga@r/ Engine manifold (b) \égfrﬁ'd‘fﬁ/Ventury.vacuum
() STOWwE ared / Diaphragm valve (d) HdifsT/ Compressor

Uz grer & fow 3zoT &9 fohg & @Rt Yere fram Sirar &7

Good traction for the road wheel is provided by

(8 G HR/ Axle weight (b)  EETHR / Sprung weight
() ITTITHT / Unsprung weight (d)  aEa s/ Vehicle weight

Y TR F AAA H, PlTH FUT AT 87
Pertaining to tube less tyres, which of the following statement is wrong ?
(@) wfceAe ared H H OWAT ST & / A non-return valve is fitted to the rim

(b) g FHe T & / it runs cooler
(©) #d, ¥ TR IFR § W, T H @ §O, Y &R GAT g
Air leakage is slow when tyres is punctured by a nail, remained in the tyre
(d) HFeER TR 1 96 Qe WHRY 9T B
Bursting of a punctured fyre is very commaon
TRl U ERRT & Hlelet 9 R ST §7
Wheels and tyres are balanced by conducting
(@) wAfasw vd TIfds Ygels HETUT / Static and Dynamic balancing tests
(b) i T ST Helele GdiaTor / Dynamic and kinetic balancing tests
(c) wfas Td g AAH HJea qeToT / Static and kinematic balancing tests
(d) TS UF Siscq Heler GHETUT / Static and inertia balancing tests

EqXET, deeT vd gEd & Fiay W FRAr gt B erAar T FEenr 57
The ability of a material to resist indentation, penetration and scratching is known as
(a) gaA#gdr/ Stiffness (b)  HERAT/ Hardness
(c) T/ Creep (d)  UFE/ Fatigue

5 ‘ - 15
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17. S50 oie F FROT G T IETAT F IEAE FAT FHEeeT 67

18.

19.

20,

21.

22.

Change in the form of material by external load is called
(8) waTy BFEIOT / Elastic Deformation (b) caTEc® f@%9uT / Plastic Deformation

" {c) fawgur / Deformation (d) 39 @l / All of the above

TES # T ST F4T B AT §7 / Tempering of steel is carried out

(a) T&&e FrFaRAT g & Tt / To increase the hardness of steel

(b) FORGT &I T FHANT il A F4e1 & ToIT / To decrease the hardness after hardening
(c) T H A TR % Tl / To soften the steel

(d) TEer I T=adr FI TgT= & foiv / To increase ductility of steel

dfee g & W@ ——— 3T el g

Babbitt’s are mainly Tin and ————— based alloys.

(a) TS/ Antimony (by HrET/ Lead
(c) 3TefAfRE/ Aluminium (dy SET/ Zinc

60 Tt AT ZEd AT W 40 AT a7 TS I W FHAM: 20 TS 30 et arer SRR A F
ACTH W T AT T EaRT S8l I §1 897 3feqarel fohetear gram?

A drive gear of teeth 60 is connected to a follower gear of 40 teeth by means of two idler gears 20
and 30 teeth respectively by a simple gear train. The velocity ratio is

(a) 1/12 (b) 7/8

(¢} 2/3 (d) 3/2

o A9 U & T, Sy T AT e S 82

For high velocity reduction, the gears used are
(a) TIRIRR / Spur gears (b) THIET/ Worm gears
(c) #Rerde 99T / Herringbone gears (d)  &forRer 1T / Helical gears

CIGIGEE! # fararor gred a1 HIAT 87 / Expansion valve in A/C system

(a) o~ w2l % g & aglal & / Increases'the pressure of vapour refrigerant
(b) arST wefceR & id I gerdT ¢ / Decreases the pressure of vapour refrigerant
(¢) oa 9N & ST FI UeTaT ¢ / Decreases the pressure of liquid refrigerant
(d) &g wMNF < e Rl ST & / Increases the pressure of liquid refrigerant
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23.

24,

25.

26.

27.

28.

arg g o Tl ITEAT F FEl Wiaad [ FEr 82

The vapour refrigerant is converted in to liquid state in

(@) Tu==/ Condenser (b)  fotelia/ Dehydrator
(c) 47/ Evaporator (d)  Hafgd/ Receiver

TA &9 & os A0 & T TF GFe8 FAST S F, 308qor 90 F &9 & 3@ Har @
In a simply supported beam with uniformly distributed load the shape of shear force diagram is

(a) 3MTarEER / Rectangle ~ (b)  HHeT/ Trapezium

(c) WFaR% / Parabolic (d) B=ivT/ Triangle

‘L'm dd$ arel aor ‘W’ N/m I8 @5 Iowor & gy s SR &9 #7 310%a9 srasaor so
fencar grem?

For a cantilever beam of length ‘L' m and with a uniformly distributed load ‘W’ N/m acting on the
entire length of the beam, the max shear force is equal to

{a) WwL/2 {b) WL

() wL*2 (d) wL*/a

O geq W AT 1T I T 0§ T HEE F IFa FA Fgorar 82
The difference between the tooth space and the tooth thickness measured along the pitch circle is
known as N

(@) TSR / Clearance (b))  weF/ Flank
(c) &IEY/ Module (dy  SeFeler/ Backlash

gelagliaeh ool SoTen & faw 31T 3w adar siar &7

The most accurate timer for electronic ignition system is the
(a) T4 AT/ Pulse generator (b)  gfe wama f&a / Hall effect switch
(c) Tif&geT/ Transistor . (d)  wriT RFawr/ Optical switch

et fir T F& v I 87 / Batteries are rated in
(@) drFgereY / Twenty-hour rate '

(b) R1a &7#ar / Reserve Capacity

(c) ofrder e tF T / Cold Cranking amperes

(d) 39dFT g/ All of the above
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29.

30.

31.

32.

33.

34.

Sl & Regd vucE i st fRraar gardo
Battery electrolyte consists of approximately
(a) 35 AfAerE HeBiNa 317 Ud 65 Fiaerd gy

35 percent sulphuric acid and 65 percent water
(b) 65 eI Tewmiier 30 g 35 widerd w=ly

65 percent sulphuric acid and 35 percent water
() 65 wfaera AR 3va vd 35 yidea gy

65 percent nitric acid and 35 percent water

(d) 35 yforra AER® 3a w9 65 widerg o=y

35 percent nitric acid and 65 percent water

T VAT &, GaRRr 8 et Sedwer @l &7

In all alternator the magnetic field is produced in the
(a) ¥/ Stator - (b)  WH/Frame
(c) WX/ Rotor (d) T / Regulator

ﬁﬁwzﬁwmaﬁmﬁuﬁﬂwmmw

The presence of carbon on the cylinder head resuits in
(@) TUISTFTEH / Loss of compression (b)  37RIS FEHT / Over heating
(©) YT FATATTT/ Poor starting (d) . 3TFT N/ All of the above

AT ?31' T ABS IUAT 3T 8T &2/ ABS in automobile is used i in
(@) &% JoTTel / Brake system (b) T / Differential
(c) TAeEsT/ Suspension (d) 3/ Engine

WA %9 7 a1 grar 27 / Radiator cap contains a
(a) ST ared / Pressure valve

(b) wAfEET ared / Thermostat valve

(c) =eir-3T greer / Blow-off valve

(d) e vd fAaia ared / Pressure and vacuum valve

Wmmwaﬂmaﬁmaﬁ% FAT FEATAT &7

The minimum temperature at which oil ceases to flow is called

(@) *@EAAT/ Viscosity (b) T TEE / Flash point
(©) GR 9T / Pour point (d) SAFITFSAE/ None of the above
8 15
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35. 5Tl F Usqolt T AoHer fRad & S 87
An indication of ignition quality of diesel is given by
(a) 3T&Fmies / Detonation
(b) 3iferest WE&AT / Octane number
() wRSTHEAT/ Cetane number
(d) UE-9=aeT / Pre-ignition

36. o aY-SUe TR A arTedr R AT g 87
Lean air-fuel mixture is required for
(a) Y& FLEA/ Starting (b) i/ Cruising
(c) Tafwz=r/ Idling (d) T/ Acceleration

37. Taf FEYF FT FRE FAT @ §7 / The function of turbo charger is to
_ (a) T&IST H 3178 gar 99 +3AT / Pump more air in to the cylinder
(b) 37T earT el # 1t SueT 9u o
Pump more fuel in to the cylinder through injector
(c) TISeT 3TUTe I I / Increase the compression ratio
(d) TosHO= 3chei F e / Decrease the exhaust emissions

38, 39T # 9F AT YHET g fhg W IR AT 87
Brake mean effective pressure in engine depends up on its
(a) Faer T / Speed only
(b} ¥ae 3TEYT / Torque only
(c) oIfdwd HrEEie / Speed and torque
(d) =g wa gt / Speed and power

39. Qmwﬁmwﬁwﬁmmmﬂsmmﬂmmm
—————— @I & |

Compared to the life of a spark plug of two stroke engine, the spark plus life of a four stroke
engine is approximately

(@) "AWT/ Same (b)  aNAT/ Twice
(c) 3%/ One and ahalf (d) m/ Half

9 15
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40.

41,

42.

43.

44,

T Y AR 0T e & fEH /A semi-conductor is a material with

(@)
(b)
(©

(d)

T T AT H IR G 3TF ST T &
More than four electrons in its outer most orbit
3HhY AT 8l 7 TR W FH FelagioT sl &

Less than four electrons in its outer most orbit
Seh AR FeT H IR SdRTET T

Exactly four electrons in its outer most orbit

I9fere 3 A I 71 / None of the above

TS T EoteT T 39eTT I waTET o FAT e §7

The advantage of gas turbine over IC engine is

(a)
(b)
(©)
(d)

(@)
(b)
©

@

(@)
(b)
(©
(d)
(a)
(b)
()

(d)

T $497 @I / Less fuel consumption

}[E ST TET § / Starting is very easy

ITaa I v G fAIA0T FET / No reduction gears and speed controls
& AT F fsshra=7 349 / Small quantities of exhaust gases

RAC Y& Far gaffar &2 / RAC ratihg indicates

sir 814 918X / Brake horse power

g 818 et / Indicated horse power
Tvor g1 TiaT / Frictional horse power
T SAfeld 81 91aT / Taxable horse power

UfeleT BT &, ST amgeT / Rolling takes place when the vehicle is

T oIaT & / Taking a turn

U3 a¥ F&RfEar / skidding on road

U2 & Tag X e / Slipping on road surface
HATeTeR @0 9T / sudden acceleration

Figer fEWaT FAT £2 / Coil springs are

HIRIOT 1S 37 U ST 718 I FHAR

Good in shear loads and weak in bending loads
ATSS TUINE, T 37T U dehed 15 H FHAR

Good in side thrust and weak in bending loads
HIRGUT AIS TS HIFS JUIG &1 9F 312

Good in both shear load and side thrust
HIEIYT SIS UF WISE YUIlE, 9T FFay

Good in shear load and weak in side thrust
10
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45. 9N 3793 & F T/ The function of a shock absorber is
(1) 3TRH® UF 201 HT 3G2NTOT / To absorb the initial road shock
(b) 3T YT 9T T I e
To control the excessive spring vibrations
(c) T =T 3T Tg FITa1T / To make the spring more rigid
(d) TEsier IfEer & q@m / To increase the spring rating

46. IARANA GG % TN g FE W R wE A 2
Stopping distance of a moving vehicle does not depend on
(@) argeT &I 1A / Speed of the vehicle

(b) TR 3FEAT/ Tyre condition
(c) CTRITE I / Width of the tyre
(d) e reaTH / Diameter of the tyre

47. Wﬁ-ﬁ?ﬁ?‘ﬂ,ﬂi‘%ﬁéﬁaﬁ,W%M?aﬁﬂmﬂaﬁwﬁﬂmmﬁ/lngeneral,
after loading, the camber angle for frant tyres of a vehicle is |
(@) Y=T/ Zero (b) 1to2°
) -1° (d} 0.5°

48. wFw A SIAMGES FAT @ 87 / Wheel wobble is due to
(8) 3 A ® Y TRRI Te&-FE / Worn out of tyres un evenly
(by AT Ere f3%F / Bent wheel disc
(c) 3NTAT AW ST / Un even tyre pressure
(d) Sq'é_ﬁ'?a'mﬂ'/All of the above

49, RIS 33 o7 # fFE YR T qUAdE FT IUGET BT Sar 87
The type of reflector used for automobile head lamp is

(@) ¥R / Spherical (b) &rigeamER / Parabolic
(c) FfduGear=iX / Hyperbolic (d) UHAESER / Trapezium

11 15
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50.

51.

52.

53.

54.

FIF-CATT TRAT A Jololm 7 WA el @ afer 2
The disadvantages of radial tyre plate compared to cross-ply tyre is

(a) @FT 1T oY 3rgfaerseie @l / Uncomfortable ride at low speeds
(b) Tove=T Yiior ufaer / Lower rolling resistance
(¢) 3= 9fd IR 3rgfaereieiss TR / Uncomfortable ride at high speeds
(d) 3178 Fer uraT / Higher cornering power

v faggd IRy #, 3o —— & FRO vy 3P S B

A fuse in an electrical circuit ‘blows’ as the result of a high

(a) A& IR gaRT 3cue sl / Voltage caused by a short circuit

(b) < URTY ZIRT 3eue=T e Y418 / Current flow caused by a short circuit
() T ATy ZaRT 3c9e+1 ateeat / Voltage caused by an open circuit

(d) 39T IROY GERT 39+ FE 9aTE / Current flow caused by an open circuit

ST WIS ST T F4AT W97 &2 / Advantages of fluid fly wheel
(@) T TAT S ERTE FET / No wear on moving parts
(b} I TS U HTIOT F IS ST AT
No jerk on transmission when the gear changes
(c) 3maTsT HHFT / Simple design
(d) 9w Hed/ All of the above

UF A SARANCY A & TS AT FE F 22
A chassis dynamometer measures the vehicle power at the
(a) FSIeT % AT / Engine crank shaft

(b) E=ROT ATFE / Transmission shaft

(c) =T/ Wheels

(d) IR EIFH IMIEYE AMFT / Gear box output shaft

@ & & wiaar F97 TeT 87 / Which of the following statement is true?
(a) efierepTer § T & €T / In winter the tyre wear is less

(b) TSI H A FA AT &/ In summer the tyre wear is less

(c) <N A ASAT HA AT & / In winter the mileage is less

(d) IR A ASelsT STERT TS / In summer the mileage is more

12
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55.

56.

57.

58.

59.

60.

W oI arel U U5 AT U A @A e Hio7 © &, W &S w9 P @ f&ar o &, ar p
T AT T gR?

A body of weight W is pulled up on an inclined plane of angle 8 by a horizontal force P, then P is
equal to ' |

(a) Wsin (0 + @) (b} Wtan(8+@)

{c) Wtan® (d} Wtan (8-0)

TEHUT ST TolHT g@RT STRY Seuor fordisor wmoms iy derar Rl g 82
Validity of pollution control certificate issued by pollution testing agency is
(8) 1FE /month (b) 3#E / months

(c) 6 /months (d) 1a¥ /year

oftber AT A, T Jaef=et F TFa e ger e o #2

In traffic rules, all cautionary signs are indicated in

(@) Y@/ Circular form
(by 3IIAFR/ Rectangular

(¢} egaBRIUMFR / Inverted triangular form
(d) TARIUTRIY / Triangular form

DTSI & &471 3T & / DTSI means

(a) TTolea Tfaw ¥arer 3192 / Digital Twin Spark Ignition

(b) = Yice TG ST / Double Throttle Spark Ignition

(c) %ﬁ?ﬁwmgﬁﬁt/ Digital Testing Smoke Instrument
(d) STHF IS AL/ None of the above

$UeT ¥ AT 3T Res T @ war ufons & &2

Very high Cetane number of fuel results in

(@) ¥ 3T/ White smoke (b) T 3T / Black smoke
(¢) e g3 / Blue smoke (d) TE=/ Colourless

FAX 3T AT S a1 FR e A ¥2

The most commonly used car heater is the F

(a) BICTI YT / Hot air type (b) T UHR / Petrol type
(c) I 91 YT/ Hot water type (d)  _rser R/ Diesel type

13 15
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B TEQIISe U U s Ul / 3T T & wi e seen, sl Ry sew REew (),
(@), (1), TUT (¥) &19F BT 37/ & TS & 3ok |1 81911 /Each objective question is provided

with a text and/or figures wherever applicable with multiple answer choices (a), (b), (¢)
and (d). Only one of them is correct.

ST e o BT AT IR A F 9| A et W g e aur R g
aol s 3UAT edF diel Uise FAEA T GIT Y /Read the instructions on the OMR sheet

carefully. Use only Blue or Black Ball Point Pen for writing on OMR sheet and marking
yOUr answers.

Telr aEgfss G & gl F W IeR o WA AN 30 g, I IR A & W o
WSS 3ccR B TH 3F FEr Awem [ All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

T wea gq fafaw 3o & 9 3¥ Ted 3T & Fer swe)
Multiple answers for a question will be regarded as a wrong answer.

B A T & A AN F IO R A F A & A1 A R A g, S divaar die
# Ru 77 s aur 3ugwd g & fowen H@ET § / Question booklets have been

marked with A or B or C on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

3aYTH gl U I6 HY g IRednr A U 0 R T 1 39T W FHS &1 T B
§r ofic 3gereT AgT s el /Space available in the booklet could be used for rough work,
if required. No separate sheet will be provided.

mmamﬁﬁva@amwwamwmwwmaﬁimmma

T I THd g aaT 95 H Ffod 9T g F / Do not waste time on questions, which are

too difficult for you. You can go on to other questions and come back to the difficult ones
later.

qﬁm%mmwu)mﬁmgvﬁ@?qﬁm#ﬁamwmmm
gRasr sedisres F div & aur fedY ot grema F srerdff o=F @R & & S0 7 At the end of

the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR
Answer Sheet shall be returned to the invigilator and shall not be carried by the
candidate under any circumstances. '
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